 GK bR‡i wmiwRw`Lvb Dc‡Rjvi K…wl cwimsL¨vb Z_¨


	µt bt
	weeiY
	wmivRw`Lvb

	1
	‡gvU GjvKv (et wKt wgt)
	180

	2
	wmwU K‡c©v‡ikb Gi msL¨v
	--

	3
	Dc‡Rjvi msL¨v
	--

	
	_vbv mv‡K©‡ji msL¨v
	--

	
	‡g‡Uªv _vbvi msL¨v
	--

	4
	BDwbq‡bi msL¨v 
	14

	5
	†cŠimfv
	--

	6
	‡gŠRvi msL¨v
	124

	7
	Mªv‡gi msL¨v
	174

	8
	K…wl &eø‡Ki msL¨v
	42

	9
	RbmsL¨v  t K)    cyiæl
	164803

	
	L)    gwnjv
	165938

	
	M)    †gvU
	330741

	10
	K…lK †kªYx (msL¨v)  t  K)  f~wgnxb                     
	9215

	
	L)  cÖvwšÍK
	16442

	
	M)  ¶z`ª
	9006

	
	N)  gvSvix
	2883

	
	O)  eo
	527

	
	†gvU
	38073

	11
	‡gvU Rwg / Avev`‡hvM¨ Rwg (†nt)
	13890 †nt 

	12
	‡cŠi GjvKvi Rwgi cwigvb  (†nt)
	--

	13
	¯’vqx cwZZ Rwgi cwigvb  (†nt)
	--

	14
	Rjvf‚wgi cwigvb
	800

	15
	PivÂj
	--

	16
	ebf~wg 
	--

	17
	bxU dmjx Rwg / †gvU Avev`x Rwg (†nt)
	13890 †nt

	18
	GK dmjx Rwg
	800

	19
	‡`v-dmjx Rwg
	6786

	20
	wZb dmjx Rwg
	6178

	21
	wZ‡bi AwaK dmjx Rwg
	126

	22
	‡gvU dmjx Rwg
	33410

	23
	dm‡ji wbweoZv(%)
	240%

	24
	‡gŠmyg wfwËK Rwgi e¨env‡ii cwigvb(‡nt)
	

	K
	Lwic 1
	12200

	L
	Lwic 2
	8070

	M
	iwe
	18434

	









	µt bt
	weeiY
	wmivRw`Lvb

	24
	K…wl Rwg  K)    DuPz Rwg (‡nt)
	525 †nt

	
	L) ga¨g DuPz Rwg (‡nt)
	2478 †nt

	
	M) ga¨g wbPz Rwg(‡nt)
	5195 †nt

	
	N) wbP~ Rwg (‡nt)
	5671 †nt

	
	O) AwZ wbPz Rwg( †nt)
	21 †nt

	
	†gvU
	13890 †nt

	25
	K…wl AvenvIqv AÂj
	8,12,15,19

	
	GB‡R Ab~hvqx Rwgi cwigvb  (†nt)                      
	

	
	8
	6852

	
	12
	2579

	
	15
	215

	
	19
	4244

	
26
	‡Kvì †÷v‡i‡Ri msL¨v K)  miKvix
	--

	
	avib ÿgvZv
	--

	
	L)  †emiKvix
	10

	
	avib ÿgZv
	78960

	
	†gvU †Kvì †÷v‡iR
	10

	
	‡gvU avib ÿgZv
	78960

	27
	K
	‡gvU RbmsL¨v(Rb)
	330741 Rb

	
	L
	11% wkïev‡` †gvU RbmsL¨v
	294360 Rb

	
	M
	Lv`¨ cÖ‡qvRb (Rb cÖwZ 442 MÖvg )
	47489‡g.Ub

	
	N

	exR,†MvLv`¨ I AcPi
 (Lv`¨ Drcv`‡bi 11.58% wn‡m‡e )
	3788 

	
	O
	 †gvU Lv`¨ cÖ‡qvRb (M+N)
	51277 †g.Ub

	
	P
	‡gvU Lv`¨ km¨  Drcv`b †g.Ub
	32717 †g.Ub

	
	Q
	DØ„Ë(+) / NvUwZ(-)  †gt U‡b
	(-)18560 NvUwZ 






















2019/20 cÖavb cÖavb dm‡ji aviv ( µwcs c¨vUv©b) t-

	µt
bs
	iwe
 (16 A‡±vt-15 gvP© )
	Lwic-1
(16 gvP©-30 Ryb)
	Lwic-2
(1 RyjvB --15 (A‡±vei)
	Avev`K…Z GjvKv (†nt)
	kZKiv nvi
	gšÍe¨

	1
	Avjy
	weAvgb 
	Pjgvb
	1734
	12.7
	

	2
	Avjy+mewR
	Ab¨vb¨
	cwZZ
	898
	6.6
	

	3
	Avjy
	cvU
	‡ivcv Avgb
	192
	1.4
	

	4
	Avjy+Ab¨vb¨
	cvU
	cwZZ
	400
	1.8
	

	5
	Avjy+mewR
	cvU
	‡ivcv Avgb
	26
	0.2
	

	6
	Avjy+‡ev‡iv
	‡evbv Avgb
	Pjgvb
	852
	6.3
	

	7
	Avjy
	fzÆv
	‡ivcv Avgb
	700
	5.0
	

	8
	mwilv+‡ev‡iv
	weAvgb
	Pjgvb
	1848
	13.6
	

	9
	‡ev‡iv
	cwZZ
	cwZZ
	800
	5.8
	

	10
	mwilv/mewR
	cvU
	cwZZ
	64
	0.4
	

	11
	‡ev‡iv
	‰aÂv
	Pjgvb
	1352
	9.8
	

	12
	Avjy 
	fzÆv
	cwZZ
	650
	4.8
	

	13
	mewR
	mewR
	mewR
	100
	0.7
	

	14
	Avjy
	mewR
	mewR
	850
	6.2
	

	15
	‡cqvR
	mewR
	mewR
	50
	0.3
	

	16
	Avjy+AvL
	Pjgvb
	Pjgvb
	170
	1.2
	

	17
	‡ev‡iv 
	cvU
	cwZZ
	66
	0.4
	

	18
	Avjy
	wZj
	‡ivcv Avgb
	58
	0.4
	

	19
	Avjy
	cvU
	cwZZ
	898
	6.5
	

	20
	Avjy
	KvDb
	cwZZ
	78
	0.5
	

	21
	Avjy
	fzÆv
	cwZZ
	864
	6.3
	

	22
	Avjy + mewR
	fzÆv
	cwZZ
	210
	1.6
	

	23
	Avjy+fzÆv
	Ab¨vb¨
	cwZZ
	20
	0.15
	

	24
	Avjy+mewR
	mewR
	mewR
	100
	0.7
	

	25
	awbqv/imyb
	Ab¨vb¨
	cwZZ
	20
	0.15
	

	26
	Avjy
	cwZZ 
	‡ivcv Avgb
	500
	3.7
	

	27
	‡ev‡iv
	cwZZ
	‡ivcv Avgb
	390
	2.8
	

	
	
	
	
	13890
	100
	




GK dmjx = 800 
`y&B dmjx = 6786
wZb dmjx = 6178
Pvi dmjx= 126
‡gvU dmjx = 33410
bxU dmjx = 13890
wbweoZv = 240%





wmivRw`Lvb Dc‡Rjv K„wl hš¿cvwZi Z_¨vw`t

	hš¿cvwZi bvg
	t
	msL¨v

	AMfxi bjKzj
	t
	685

	GjGjwc 
	t
	210

	Gj Gj wc
	t
	210

	Uªv±i
	t
	4

	K¤^vBb nvi‡fóvi
	t
	3

	wicvi
	t
	1

	cvIqvi wUjvi
	t
	756

	cvIqvi †¯cÖqvi
	t
	42 

	n¨vÛ †¯cÖqvi 
	t
	1618

	dzU cv¤ú †¯cÖqvi
	t
	25

	c¨v‡Wj †_ªmvi
	t
	20

	cvIqvi ‡_ªmvi
	t
	199

	avb fv½vi †gwkb
	t
	10

	fyÆv gvovB hš¿
	t
	2



wmivRw`Lvb Dc‡Rjvi K…wl DcKib we‡µZvi Z_¨ejx t- 

1| wewmAvB mvi wWjvi t- 15 Rb
2| LyPiv mvi we‡µZv/ wWjvi t- 85 Rb 
3| weGwWwm exR n‡Z mvi wWjvi t- 37
4| KxUbvk‡Ki cvBKvix wWjvi t- 14 
5| KxUbvk‡Ki LyPiv wWjvi t- 97 Rb 
6| ‡iwR÷bK…Z ‡emiKvix bvm©vix t- 6 wU
7| †Kvì †÷v‡iR msL¨v t- 10 wU avib ÿgZv 78960 †g.U

